CAPF Solved Paper-2021
(Paper-1)

Eight metallic balls of one centimetre radius each are
melted into one ball.

The diameter of the new balls is

(a) 2cm (b) 6 cm

(c) 4cm (d) Tem

The ratio of monthly incomes of 4 and B is 7 : 10. The
ratio of their expenditures is 2 : 3. If each 4 and B saves
%1,000 per month, then what will be the monthly income
of B.

(a) 9,000 (b) 10,000

(c) % 15,000 (d) ¥ 12,000

A and B together can finish a job in 20 days. B and C
together can finish the same job in 30 days. If 4 and C
together can finish it in 24 days, in how many days can 4
alone finish the job?

2 1
(a) 35; days (b) 37 7 days

2 2
(©) 34; days (d) 33; days

A tree is at present 9 feet tall, If every year it grows 1/9th
of its height, what will be the height of the tree after three
years.

(a) 12 feet (b) 12.34 feet

(c) 13 feet (d) 13.10 feet

If first March of a year is Sunday, which day will be the

first February of the next year?

(a) Friday (b) Tuesday

(c) Saturday (d) Monday

Which one among the following statements is not correct?

(a) When the economy grows slowly than its potential,
the unemployment rate rises.

(b) Structural employment occurs when jobs are
eliminated by changes in demand for particular goods
or due to automation.

(¢) Recession in the economy leads to cyclical
unemployment.

(d) At full employment, the measured unemployment
rate 1S negative.

The amount by which the equilibrium level of real GDP

exceeds the full employment level of GDP is called

(a) recessionary gap (b) inflationary gap

(c) income multiplies  (d) automatic stabilizer

For anything to be recognized as money, it needs to have

which of the following characteristics?

10.

11.

12.

1. Actas an intermediate in the exchange process

2. Standard unit for quoting prices

3. Must be easily divisible

4. Have higher value in alternative uses

Given the correct answer using the code given below.

(a) 1,2and4 (b) 2 and 3 only

(¢) 1,2and3 (d) 1,3 and 4

The sectoral shares of Gross Value Added (GVA) for the

year 2009-10 to 2018-19 show that the share of service

sector in GVA in India has increased over the years. Which

among the following have driven the maximum increase?

(a) Electricity, gas water supply and other utility services

(b) Trade, hotel, transport, communication and services
related to broadcasting

(c) Public administration, defence and other services

(d) Financial real estate and professional services

On the basis of employment conditions, the economy is

divided into

(a) organized and unorganized sectors

(b) private and public sectors

(c) scasonal and disguised sectors

(d) primary, secondary and tertiary sectors

Which one of the following is not a type of chemical

weathering?

(a) Carbonation solution (b) Salt crystal growth

(¢) Hydrolysis (d) Oxidation

Match List-I with List-II and select the correct answer

using the code given below the Lists:

List-1 List-11
(Fold Mountain) (Country/continent)
A. Ural I. South America
B. Appalachians 2. South Africa
C. Drakensberg 3. Russia
D. Andes 4. North America
Code:

A B C D
(a) 3 2 4 1

A B C D
b) 3 4 2 1

A B C D
() 1 4 3 2

A B C D
(d 1 2 3 4
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13.

14.

15.

16.

17.

18.

19.

20.

Which of the following main types of iron ores are found
in India

1. Haematite 2. Magnetite 21.
3. Limonite 4. Siderite

(a) 1and?2only (b) 2 and 4 only

(¢) 1,2and4 (d) 1and3

Where is Asan Conservation Reserve located?

(a) Himachal Pradesh  (b) Uttarakhand

(c) Sikkim (d) Arunachal Pradesh

Consider the following statements:

1. The early Sikh Gurus were religious preachers and
did not interfere in politics but Guru Arjan extended
his good wishes for the rebel prince Khusrau.

2. Guru Arjan attempted to organize the finances by
introducing the system of more or less compulsory
‘spiritual tribute’ to be collected by his agents called
Masands.

Which of the statements given above is/are correct?

(a) 1 only (b) 2 only

(c) Both1and2 (d) Neither 1 nor 2

Qutb Minar was originally four-storied. Who among the

following Delhi Sultans raised the height to the structure 23.

by adding the fifth story?

(a) Balban (b) Alauddin Khalji

(¢) Muhammad Tughlaq (d) Firoz Shah Tughlaq
Which one of the following pairs of Deccan Sultanates
and their respective regions is not correctly matched?

(a) Nimam Shahis Bijapur

(b) Barid Shahis Bidar

(c) Qutb Shahis Golkonda

(d) Imad Shahis Berar

Consider the following statements: 24,

1. Under Akbar the system of Zabt was established over
a large area from Punjab to Awadh.

2. Inthe seventeenth century North India, the system of
Zabt lost much ground to the system Kankut.

Which of the statements given above is/are correct?

(a) 1only (b) 2 only

(¢) Both1and2 (d) Neither 1 nor 2

Who among the following warned his colleagues that the

Constituent Assembly was British made and was ‘working

the British plan as the British should like it to be worked

out’?

(a) Somnath Lahiri

(b) B.R. Ambedkar

(¢) Shyama Prasad Mukherjee

(d) B.N.Rau

Who among the following fixes the date of election of the

Speaker of the Lok Sabha?

(a) The President of India

(b) The Minister of Parliamentary Affairs

22.

25.

26.

(c) The Secretary General of the Lok Sabha

(d) The Deputy Speaker of the Lok Sabha

Which one of the following statements about ‘personal

liberty’ is not correct?

(a) State does not have the authority to deprive any person
within the territory of India of his/her personal liberty
without any rational basis.

(b) Basis of depriving a poem of his/her personal liberty
must be in accordance with procedures established
by law.

(c) Personal liberty can be secured by the judicial writ
of Habeas Corpus.

(d) The majority view of the Supreme Court in A. K.
Gopalan vs. State of Madras case invented ‘due
process of law’.

Which one of the following statements with regard to the
Directive Principles of State Policy is not correct?

(a) They are not enforceable in a court of law.

(b) They can obver ride all the fundamental rights.

(¢) They can be related to social and economic justice.
(d) They can be related to giving free legal aid.

Which one of the following statements with regard to the
Preamble to the Constitution of India is not correct?

(a) The term ‘Secular Democratic Republic’ was not
there in the Preamble originally.

(b) The Preamble contains the basic structure of the
constitution of India.

(c) By itself, the Preamble is not enforceable in a court
of law.

(d) The Supreme Court has held that the Preamble cannot
be considered as an aid to the legal interpretation of
the Constitution, where the language is ambiguous.

The Electoral College for electing the President of India

does not include which of the following.

1. All elected members of the Rajya Sabha

2. All elected members of the Legislative Assemblies
of States

3. All members of the Legislative Council of States
Select the correct answer using the code given below.

(a) land2 (b) 2and 3

(c) 3only (d) 2 only

A, B and C start a business by investing I 7,000, ¥ 8,000
and ¥ 12,000 respectively. After a year B gets X 3,200 as
his share of profit. What is the total profit.

(a) ¥16,600 (b) 10,000

() ¥21,600 (d) ¥10,800

Which one of the following is the only riverine major port
in India?

(a) Mormugao

(b) Deendayal

(c¢) Kolkata

(d) Paradip
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27.

28.

29.

30.

31.

32.

33.

34.

Which one of the following is not a desert river?
(a) Barak (b) Rupen
(c) Banas (d) Machchhu

The heaviest rocks, which are rolled the river bed in river
bed in river transport, come under which type of load?
(a) Solution load (b) Suspension load

(c) Salation load (d) Traction load

Which of the following factors are needed for the growth
of corals?

1. Freshwater

2. Clear shallow salt water

3. Plenty of sunlight for photosynthesis

4.  Warm water between 23 °C to 25 °C

Select the correct answer using the code given below.

(a) 1,3 and4 only (b) 2,3 and 4 only

(c) 1and?2 only (d) 1,2,3and

Convection currents, which move the tectonic plates, are
found in which layer of the earth?

(a) Crust (b) Mantle

(c) Outer core (d) Inner core

Consider the following statements:

1. The growth of socialist tendency in the national
movement led to the foundation of the Congress
Socialist Party in 1934 under the leadership of
Acharya Narendra Deva and Jayaprakash Narayan.

2. In 1936, Jawaharlal Nehru urged the Congress to
accept socialism as its goal and to bring itself closer
to the peasantry and working class.

Which of the statements given above is/are correct?

(a) 1only (b) 2 only

(c) Both1and2 (d) Neither 1 nor 2

Initially, what was the purpose of setting up of the hill

stations during the colonial period in India?

(a) To serve as winter capitals for the British

(b) To serve the needs of the British army

(c) To source timber from forests

(d) To set up sanatoria

Who among the following founded the Dharma Sabha?

(a) Krishna Mohan Banerjee

(b) Keshab Chandra Sen

(c) Radhakanta Deb

(d) Akshay Kumar Datta

Consider the following Jat peasant leaders of 17th and

early 18th centuries:

1. Badan Singh

2. RajaRam Jat
3. Gokula Jat

4.  Churaman Jat

Which one of the following is the correct chronological
order of the above leaders?

35.

36.

37.

38.

39.

40.

41.

42.

(a) 3-2-4-1 (b) 1-2-3-4

(c) 3-4-1-2 (d) 2-3-1-4

Who among the following Bhakti saints did not belong to
Nirguna School of Bhakti.

(a) Kabir (b) Nanak

(¢) Dadu (d) Chaitanya

Volcano Mount Merapi, which erupted in January2021, is
situated in

(a) Thailand (b) China

(c) Indonesia (d) Maldives

E-100 pilot project, launched in Pune in June 2021, is
related to the production and distribution of

(a) COVID vaccine (b) ethanol

(c) electric vehicle (d) ethane

On the occasion of the World Environment Day, 2021,

which one of the following was declared as a National
Park in India.

(a) Raimona (b) Orang

(c) Dibru-Saikhowa (d) Nameri

Who among the following has withdrawn from the French
Open Tennis Tournament, 2021 in second round after
controversy over media obligations?

(a) Coco Gauff

(b) Serena Williams

(c¢) Ana Bogdan

(d) Naomi Osaka

Heron drones, inducted by Indian forces for enhancing
their surveillance capabilities, are acquired from

(a) USA (b) Russia

(c) Israel (d) Japan

Cyclone ‘Tauktae’ was named by

(a) Maldives (b) Myanmar

(c) Oman (d) Iran

Match List-I with List-II and select the correct answer
using the code given below the Lists:

List-I List-IT
(Variant of COVID-19) (First identified in)
A. Alpha I. India
B. Beta 2. Brazil
C. Gamma 3. Britain
D. Delta 4. South Africa
Code :
A B C D
(a) 3 4 2 1
A B C D
(b) 1 3 3 4
A B C D
() 1 4 2 3
A B C D
(d 3 2 4 1
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43. Indian Coast Guard Offshore Patrol Vessel ‘Sajag’, which (a) ¥ 1,800 (b) ¥ 1,200
was commissioned in May 2021, was constructed by (c) ¥ 1,600 (d) 1,400

44,

45.

46.

47.

48.

49.

50.

51.

(a) M/s Bharati Shipyard Limited

(b) M/s Cochin Shipyard Limited

(¢) M/s Hindustan Shipyard Limited

(d) M/s Goa Shipyard Limited

Who among the following was the Head of the Expert
Committee on Variable Capital company in India which
has submitted its report recently?

(a) K.P. Krishnan (b) Ketan Dalal

(¢) J.Ranganayakulu  (d) Bobby Parikh

Which one of the following States ranked first on
Sustainable Development Goal India Index, 2020-21
released by NITI Aayog?

(a) Himachal Pradesh  (b) Tamilnadu

(¢) Kerala (d) Goa

Which one of the following is the theme of the World
Ocean Day, 2021?

(a) Innovation for Sustainable Ocean

(b) The Ocean : Life and Livelihoods

(c) Gender and Oceans

(d) Clean Our Oceans

In the latest Chandler Good Government Index (CGGI),
which classifies 104 countries in terms of government
capabilities and outcomes, India has been ranked

(a) 49t (b) 59t

(c) 69t (d) 79t

Scientists at CRIR-NCL Pune, with support from the Water
Technology Initiative of the Department of Science and
Technology (DSF), Government of India, have recently
developed a novel hybrid technology to bring safe and
healthy drinking water. What is the name of the hybrid
technology?

(a) Safewater

(c) Arsiron Nilogon

(b) SWASTIIK
(d) Fluoride Nilogon
Which one of the following films has won the Best Film

Award in Environment Conservation category at the 67th
National Film Awards, 2021?

(a) Janaki Porua

(b) Wild Karnataka

(c) Water Burial

(d) Ronuwa — Who Never Surrender

Which one of the following books was declared winner
of the 2021 International Booker Prize?

(a) At Night All Blood is Black

(b) The Dangers of Smoking in Bed

(¢) When We Cease to Understand the World
(d) The Was of the Poor

In a stock clearance sale, a shopkeeper givers 40% off on
all his items. He incurs a loss of 25% by selling an item
of marked price T 2,000. Which one of the following is
the cost price of this item?

52.

53.

54.

55.

56.

57.

58.

59.

60.

The average age of Raj and his father is 45 years. If the ages
of the father and the grandfather of Raj are respectively
two and three times that of Raj, then the age of Raj’s
grandfather is
(a) 75 years (b) 90 years
(c) 8l years (d) 84 years
The smallest number which when added to 10000 becomes
divisible by 20, 24 and 30 is
(a) 120 (b) 800
(c) 80 (d) 83

2
Suppose the nth term of a series is 1+§+ % . If there

are 20 terms in the series, then the sum of the series is equal to
(a) 1360 (b) 1450

(c) 1500 (d) 1560

How many different words, with or without meaning, can
be formed by using the letters of the word COVID?

(a) 60 (b) 150

(c) 100 (d) 120

The widespread deaths due to starvation and epidemics
are th characteristics of
(a) famine (b) poverty

(c) civil war (d) malnutrition

The price declared by the Government every year before
the sowing season to provide incentives to the farmers is
called

(a) buffer price

(b) issue price

(c) minimum support price
(d) fair sustenance price

Caves, arches, Stacks and Stumps are the landscape

features of which one of the following?

(a) River (b) Wave

(¢) Limestone (d) Wind

Which of the following statements about tropical rain

forests are correct?

1. The soils of tropical rain forests are quite infertile.

2. The vegetation is evergreen, enabling photosynthesis
to take place year around.

3. They have been described as ‘deserts covered by
trees’.

4. They are most productive land-based ecosystem.
Select the correct answer using the code given below.

(a) 2and4 only

(b) 1,3 and4 only

(¢) 1,2and3 only

(d 1,2,3and 4

In which one of the following soils, the salt content is so
lights that common salt is obtained by evaporating the
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61.

62.

63.

64.

65.

66.

saline water in some areas?

(a) Peaty soil (b) Alluvial soil

(c) Laterite soil (d) Arid soil

Which of the following statements about Akbar are correct?

1. In 1500s, Akbar had the Fort of Agra constructed.

2. In 1570s, Akbar decided to build a new capital at
Fatehpur Sikri.

3. Akbar also commissioned a white marble tomb of
shaikh Salim Chishti at Sikri.

4. In 1585, Akbar decided to shift the capital back to
Agra.

Which the correct answer using the code given below.

(a) 1,2and4 (b) 1,2 and 3

(¢) 2,3and4 (d) 3 and 4 only

Which of the following statements about Amaranayakes

of Vijayanagara are correct?

1. The Amaranayakas were millitary commanders who
were given lerritories to given try the kaya.

2. In lieu of their service and ales to maintain their
contingents, they were paid in cash.

3. They maintained atipulated contingents and elephants.

4. They used to send tribute to the king annually and
personally appeared in the royal court with gifts to
express their loyalty.

Select the correct answer using the code given below.

(a) 1,2and3 only (b) 1,3 and 4 only

(c) 2and4 only (d) 1,2,3and 4

Which of the following pairs is/are correctly matched?

1. Permanent Settlement : Lord Cornwallis

2. Ryotwari Settlement : Thomas Munro

3. Mahalwari Settlement : Holt Mackenzie

Select the correct answer using the code given below.

(a) 1 only (b) 1 and 2 only

(c) 2and 3 only (d) 1,2and3

Who among the following assumed the title of Nizam-ul-

Mulk Asaf Jah to set himself up as an independent ruler

with his base in Hyderabad?

(a) Kartalab Khan (b) Bahadur Shah

(¢) Alivardi Khan (d) Chin Qilich Khan

Which one of the following fundamental rights has nrot

been provided to a person?

(a) Protection against prosecution and punishment for
the same offence more than once

(b) To refuse to give his/her sample of handwriting as
evidence to support a prosecution against him/her

(c) To act as a witness against himself/herself

(d) Right not to be convicted of any offence except for
violation of a law in fore at the time of commission
of the act charged as an offence

The constitution of India contains no provision for the

constitution of municipalities in every State for

67.

68.

69.

70.

71.

72.

73.

74.

(a) a Nagar Panchayat

(b) a Municipal Council

(¢) a Municipal Corporation

(d) an Urban Panchayat

Consider the following quote:

“On the 26th January, 1950, we are going to enter a life

of contradictions. In politics we will have equality and in

social and economic life we will have inequality.”

To whom among the following leaders is this quote

attributed?

(a) Mahatma Gandhi (b) Sarojini Naidu

(c) B.R.Ambedkar (d) Somnath Lahiri

Which one of the following powers has not been conferred

on the President of India?

(a) Appointment of Prime Minister

(b) To decide at his/her discretion any question regarding
disqualification of a Member of the Parliament

(c) To grant pardon to a person who has been punished
by a court martial

(d) To remove a Judge of the High Court

Which one of the following statements with regard to

Maneka Gandhi vs, Union of India case, 1978 is not

correct?

(a) It was held that Article 19 and Article 21 are not
watertight compartments.

(b) It was held that a law coming under Article 21 may
not satisfy the requirements of Article 19.

(c) A fair trial eliminates the biases against the accused
in the trial.

(d) Therightto life under Article 21 does not include the
right to die.

A shopkeeper gives two consecutive discounts of 10% and

5% respectively on his items. He then adds 20% GST on his

items. If an item has marked price ¥ 2,000, how much more

or less of the actual price of the item a customer has to pay?

(a) 2.6 % less (b) 2.6% more

(¢) Same price (d) 5.2% more

The difference of compound interest and simple interest

of a sum of money at the rate of 5% per year for 2 years

is ¥ 250. The sum is

(a) 1,00,000 (b) ¥ 80,000

(c) 40,000 (d) ¥1,20,000

How much water is to e added to 75 ml of alcohol that the

mixture contains 25% of alcohol?

(a) 100 ml (b) 225 ml

(c) 250 ml (d) 125 ml

If 35% of a number is 416 more than 27% of the same

number, then the number is

(a) 5200 (b) 2600

(c) 3900 (d) 3328

In India, Cardamom Hills are regarded as a continuation

of the
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75.

76.

77.

78.

79.

80.

81.

(a) Eastern Ghats (b) Mizo Hills

(c) Naga Hills (d) Western Ghats

Match List-I with List-II and select the correct answer
using the code given below the Lists:

List-I List-11
(Tributary) (River)
A. Sutlej 1 Yamuna
B. Kosi 2. Brahmaputra
C. Teesta 3. Ganga
D. Chambal 4 Indus
Code:

A B C D
(a) 1 3 2 4

A B C D
) 1 2 3 4

A B C D
(c) 4 3 2 1

A B C D
(d) 4 2 3 1

Which one of the following pairs is not correctly matched?

(a) Positively phototropic Shoot

(b) Positively geotropic Root

(¢) Chemotropic Pollen tube
(d) Hydrotropic Flower

Which one of the following metals does not react with

oxygen, water or acids?

(a) Na (b) Cu

(c) Fe (d) Au

Which one of the following metals produces hydrogen

with cold water?

(a) Silver (b) Sodium

(c) Copper (d) Iron

Manganese is extracted by heating manganese dioxide with

aluminium powder. Which one of the following statements

with regard to the reaction is correct?

(a) The reaction is exothermic.

(b) The reaction is endothermic.

(c) Manganese is produced as a solid.

(d) Manganese is more reactive than aluminium.

Which one of the following properties decreases across

the periodic table from left to right and increases from top

to bottom?

(a) lonization energy

(b) Electron affinity

(c) Electronegativity

(d) Atomic radius

Which one of the following statements about production

possibility frontier is not correct?

(a) The production possibility frontier slopes downwards
to the right as the resources are limited.

82.

83.

84.

85.

86.

87.

88.

89.

(b) The different combinations of various goods and
services given the available resources and technology
are denoted by the production possibility frontier.

(c) Any point on or inside the production possibility
frontier is attainable under the existing technology
and resources.

(d) On the production possibility frontier, the output of
one commodity can be increased without changing
the output of another commodity.

How is the magnitude of price elasticity for an individual

good determined?

1. By the degree to which the good is a necessity or
luxury

2. By the extent to which substitutes are available

By the rate of income growth in the economy

By the relative importance of the good in the

consumer’s budget

Select the correct answer using the code given below.

(a) 1,2and3 (b) 1 and 4 only

(¢) 1,2and4 (d) 3and 4

Which one of the following functions as an automatic

stabilizer in the context of fiscal and monetary policies of

an economy?

oW

(a) Personal income tax

(b) Reverse repo rate of bank

(c¢) Open market operation

(d) Bond price

Broadly both birth and death rates are low in which one
of the following stages of demographic transition model?
(a) High stationary stage

(b) Early expanding stage

(c) Late expanding stage

(d) Low stationary stage

Which one of the following is a pull factor form migration?
(b) High wage

(d) Low income

(a) Natural disaster
(¢) Housing shortage
What is the depression at the top of a volcano following
a volcanic eruption called?

(a) Chamber (b) Vent

(c) Cinder (d) Crater

In order to find out the absolute location of a place on the
map, which of the following will be required?

(a) Latitude of the place alone

(b) Longitude of the place alone

(c) Both latitude and longitude of the place

(d) Neither latitude nor longitude of the place

The speed of the wind is measured by

(b) wind rose

(d) anemomoter

(a) wind vane
(¢) barometer
In the course of a river, in time, which one of the following
features is formed when the old meander is closed off by
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90.

91.

92.

93.

94.

95.

96.

97.

98.

deposition?

(a) Pothole (b) Levee

(c) Oxbow lake (d) Flood plain

Most of the mature Harappan sites in the region of
Cholistan had been abandoned during

(a) C.2250 BCE (b) C.2000 BCE

(c) C. 1800 BCE (d) C. 1700 BCE
Madhyamika Karika, the basic text of Madhyamika
School, was composed by

(a) Nagarjuna (b) Asanga

(c) Vasubandhu (d) Dharmakirti

Which one of the following pairs of authors and Sanskrit
literary works is not correctly matched?

(a) Somadeva Kathasaritsagara

(b) Ashvaghosha Buddhacharita

(c) Bilhana Vikramankadevacharita
(d) Kalidasa Vasavandatta

In the Madhura School of Art, Buddha’s images are largely
carved in

(a) Dhyana Mudra

(b) Abhaya Mudra

(c) Dharmachakra Mudra
(d) Varada Mudra

The Mauryan capital of Pataliputra has been associated

with the archaeolgical remains of

(a) Bulandibagh and Rajagriha

(b) Kumrahar and Mocharim

(¢) Kumrahar and Bulandibagh

(d)

The Satavahanas are indentified in the Puranas by which

one of the following epithets?

(a) Andhras (b) Shakas

(c) Kshatrapas (d) Sungas

Which one of the following powers of the Supreme Court

is also conferred on a High Court?

(a) Advisory power

(b) Power of doing complete justice in any cause or matter
pending before the court

Kumrahar and Jalalgarh

(c) Power of court of record
(d) Power to allow/refuse Special Leave Petitions

The Constitution of India does not guarantee which one
of the following as a fundamental right?

(a) Rightto equality

(b) Right against exploitation

(c) Right to property

(d) Right to carry on trade and business

Which one of the following statements abut the Supreme

Court is not correct?

(a) Under Article 129 and Article 144 of the Constitution
of India, the Supreme Court has been vested with

99.

100.

101.

102.

103.

104.

105.

power to punish for contempt of court.

The Supreme Court has been vested with advisory
jurisdiction.

(¢) The Supreme Court may refuse to provide opinion to
the President, if so asked, in certain circumstances.
Law declared by the Supreme Court is binding on all
courts within the territory of India.

(b)

(d)

Which one of the following statements abut Public
Accounts Committee is correct?

(a) The Committee consists of not more than 15 members
from the Lok Sabha and 10 members from the Rajya
Sabha.

The Finance Minister is an ex officio member of the
Committee.

(c) A member of the Committee is given a term for one
year.

The term of the office of the members of the
Committee from the Rajya Sabha is extended even
when they retire from the Rajya Sabha.

Who can be appointed as a Judge of the Supreme Court?

(b)

(d)

(a) An advocate who was practised for at least ten years
in any court

(b)
(c) Adistinguished jurist in the opinion of the President
of India.

A person who has held a judicial office for at least
fifteen years.

The time elapsed between viewing a lightning flash and
hearing the thunder of a cloud is 10 s. If the speeds of sound
and light in air are 330 m/s and 3 x 10% m/s respectively,
how far away is the storm?

(a) About 1650 m (b) About 3300 m

(c) About 990 m (d) About 1000 m

What is the approximate wavelength of violet light in air?
(a) 07 um (b) 0:6 um

(e) 0-5um (d) 0-4 um

Which electromagnetic radiation(s) is/are used to cook
food?

(a) Infrared radiation only

A Judge of a High Court for at least three years

(d)

(b) Microwave radiation only
(e) Infrared and microwave radiations
(d) All electromagnetic radiations

An object is placed 10 cm in front of a lens. The image
formed is real, inverted and of same size as the object.
What is the focal length and nature of the lens?

(a) 5 cm, converging

(b) 10 cm, diverging

(c) 20 cm, converging

(d) 20 cm, diverging

Which one of the following statements with regrard to a
short-sighted person is correct?
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(a) A short-sighted person sees the near objects blurred (¢) Gas, Land, Fire, Sky and Water
but distant objects clearly and a convex lens is used (d) Air, Earth, Fire, Land and Water
to correct this defect. 115. A milkman adds a small amount of baking soda to milk.
(b) A short-sighted person sees the near objects clearly This makes the pH of the milk.
but distant objects blurred and a concave lens is used (a) strongly alkaline (b) weakly alkaline
to correct this defect. . (c) strongly acidic (d) weakly acidic
(c) A short-sighted person sees the near objects blurred 116 Wwhich one of the following metal oxides does ot usually
but distant objects clearly and a concave lens is used react with sodium hydroxide?
o Correct' this defect. . (a) Copper oxide (b) Aluminium oxide
(d) A short-sighted person sees the near objects clearly . . . .
. . . (c) Potassium oxide (d) Calcium oxide
but distant objects blurred and a convex lens is used ) . .. )
to correct this defect 117. When calcium metal reacts with sulphuric acid, the reaction
. . 0
106. Which one of the following organelles is not found in stops after a sh'ort while. Why. ) .
animal cells? (a) The reaction of calcium with sulphuric acid is not
) feasible at room temperature.
(a) Cell membrane . . .
. . (b) Formed calcium sulphate is insoluble in water and
(b) Endoplasmic reticulum . . .
covers the calcium metal, preventing it from reacting
(c) Cell wall any further
(d) Lysosome (c) Formed calcium suphate requires two molecules of
107. Which one of the following plant tissues has large air water to crystallize as gypsum
spaces? (d) Formed calcium sulphate is unstable.

108.

109.

110.

111.

112.

113.

114.

(a) Sclerenchyma (b) Meristem

(c) Collenchyma (d) Aerenchyma

Which one of the following is not a connective tissue?
(a) Ligament (b) Tendon

(b) Smooth muscle (d) Cartilage

Which one of the following organisms belongs to the
kingdom Monera?
(a) Diatom

(¢) Anabaena

(b) Euglena

(d) Ulothrix

Which one of the following diseases does not transmit
through fine droplets coming out from mouth or nose of
an infected person?

(a) Pneumonia (b) COVID-19

(c) HIV-AIDS (d) Tuberculosis

Which one of the following is not a breakdown peroduct
of glucose during respiration?

(a) Ethanol (b) Lactic acid

(c) Water (d) Methanol

Which one of the following is an example of endothermic
reaction?

(a) CaO(s) + H,O(l) — Ca(OH),(aq)

(b) CaCO4(s) — CaO(s) + CO4(g)

() C(s)+0y(g) — COyg)

(d) CH4(g) +20,(g) — CO,(g) + 2H,0(1)

Packeta of potato chips are usually flushed with which one
of the following gases to prevent rancidity?

(a) Carbon dioxide (b) Hydrogen

(c) Nitrogen (d) Oxygen

According to early Indian philosophera, what are the basic
elements described in Pancha Tattva?

(a) Earth, Fire, Sky, Gas and Water

(b) Air, Earth, Fire, Sky and Water

118.

119.

120.

121.

122.

When a white light beam is made to fall on a hollow prism
filled with water, it breaks into seven constituent colours.
Which of the following colours suffers the maximum angle
of deviation?

(a) Red

(b) Violet

(c) Green

(d) All suffer by equal amount of deviation

The following figure shows the image of a clock in a plane
mirror:

Which one of the following is the correct time?

(a) 2:35 (b) 3:45

(c) 9:15 (d) 9:25

Which one among the following is not a luminous object?
(a) Sun (b) Proximn Centauri

(c) Jupiter (d) Alpha Centauri

Let an electric current of 1-5 A flow throug an incandescent
lamp in a circuit. What is the amount of charge that flows
through it in 10 ms?

(a) 0-015C (b) 0-15C

(¢) 1:5C (d) 15C

Which one among the following is not a renewable energy
source?
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123.

124.

(a) Solar (b) Wind

(¢) Nuclear (d) Hydroelectric

Which one of the following is not a function of chlorophyll?
(a) Splitting of water

(b) Absorption of photon

(c) Oxidation of carbohydrate

(d) Conversion of light energy into chemical energy

Which one of the following statements about life processes
in single-celled organisms is not correct?

125.

(a)
(b)
(©)

They require separate organ for food uptake.
Separate organ is not needed for respiration.

Waste of excretory material is produced by these
organisms.

(b) They remain in contact with external environment.
Which one of the following organisms does not processes
notochord at any stage of its life cycle?

(a) Holothuria (b) Herdmania

(¢) Exocoetus (d) Salamander

HINTS & EXPLANATION

(c) Let the radius of the new ball is ‘R’ cm.
Radius of the metallic balls = 1 cm.
According to the question,

4 4
—n(1)P’x8=—-n(R)}
3 O] 3 (R)

= 8=R3
Taking cube root on both sides,
2=R

= R=2cm
Diameter of the new ball

=2 x radius
=2x2=4cm.
(b) Let the monthly income of A and B is 7x and 10x.
Then, according to the question,

7x—1000 _ 2

10x-1000 3

= 21x-3000=20x—2000

= x=%1000

So, monthly income of B =10 x 1000

=% 10,000

(¢) (A & B) can finish the job = 20 days

(B & C) can finish the job = 30 days

(A & C) can finish the job = 24 days

Let total work is 120 units (LCM of 20, 30 and 24)

Then, efficiency of A & B = % = 6 unit/day

Efficiency of B & C = % =4 unit/day

120
Efficiency of A& C = eyl 5 unit/day.

Efficiency of (A, B and C) together per day

6+4+5 15 .
= = — unit/day
2 2

.. Efficiency of A
= Efficiency of (A + B + C) — Efficiency of (B+C)

15 7
= ——4 = — unit/day

2 2

So, A alone finish the job
120 240 2

= — =—=34— days.
77 T
2

(b) Present height of the tree = 9 feet.

1
It grows every year = 3 th of its height

The height of the tree after 3 years

10 10 10
=0X—X—X—

9 9 9
1000

= ——=12.345 = 12.34 feet
o1 ee

(d) If first March of a year is Sunday, then first March of
next year will be Monday.
- First February to First March There is no odd days left
so, first February of the next year is ‘Monday’.
(b) Structural unemployment is a form of involuntary
unemployment caused by a mismatch between the skills
that workers in the economy can offer, and the skills
demanded of workers by employers (also known as the
skills gap).
(b) An inflationary gap is a macroeconomic concept that
measures the difference between the current level of real
gross domestic product (GDP) and the GDP that would
exist if an economy was operating at full employment.
(c) Money is defined as a unit of measure that is
generally accepted and recognized as a medium of
exchange in the economy.
*  Money serves as a medium of exchange, which
means that money acts as an intermediary between
the buyer and the seller.
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10.

I1.

12.

*  Money must serve as a store of value. In a barter
system, we saw the example of the shoemaker trading
shoes for accounting services.

*  Money serves as a unit of account, which means that
it is the ruler by which other values are measured.

*  Another function of money is that money must serve
as a standard of deferred payment. This means that
if money is usable today to make purchases, it must
also be acceptable to make purchases today that will
be paid in the future.

(a) Real GVA at Basic Prices is estimated to increase

from 129.07 lakh crore in 2018-19 to "135.40 lakh crore

in 2019-20. Estimated growth of real GVA in 2019-20 is

4.9 per cent as against 6.6 per cent in 2018-19.

The sectors which registered growth rate of over 4.9 percent

are, ‘Electricity, Gas, Water Supply and Other Utility

Services’, ‘Trade, Hotels, Transport, Communication and

Services related to Broadcasting’, ‘Financial, Real Estate

and Professional Services’ and ‘Public Administration,

Defence and Other Services’ at 5.4 per cent, 5.9 per

cent, 6.4 per cent, 9.1 per cent respectively. The growth

in the ‘Agriculture, Forestry and Fishing’, ‘Mining
and Quarrying’, ‘Manufacturing’ and ‘Construction’ is
estimated to be 2.8 per cent, 1.5 per cent, 2.0 per cent and

3.2 per cent respectively.

(a) On the basis of employment conditions, the

activities in the economy are classified into organized and

unorganized sectors.

—  Organized Sector: This sector covers those enterprises
which are registered by the government and have
to follow its rules and regulations. For example,
Reliance Industries Ltd., GAIL etc.

—  Unorganized Sector : It includes those small and
scattered units which are largely outside the control
of the government. Though there are rules and
regulations but these are never followed here. For
example, casual workers in construction, shops etc. In
this sector there is no job security and the conditions
of employment are also very tough.

(b)

* Chemical weathering is the weakening and
subsequent disintegration of rock by chemical
reactions. These reactions include oxidation,
hydrolysis, and carbonation. These processes either
form or destroy minerals, thus altering the nature of
the rock’s mineral composition.

e Salt crystal growth can cause the break-up of
rock materials. Crystal growth often occurs when
groundwater moves into empty pores or spaces of
rock by capillary action. As the water evaporates,
salt crystals grow and accumulate, putting pressure
on the rock and causing it to break apart.

(b)

e The Ural Mountains or simply the Urals, are a

13.

14.

15.

16.

17.

mountain range that runs approximately from north
to south through western Russia, from the coast of
the Arctic Ocean to the river Ural and north-western
Kazakhstan.

+  The Appalachian Mountains,[?] often called the
Appalachians, are a system of mountains in eastern
to northeastern North America. The Appalachians
first formed roughly 480 million years ago during
the Ordovician Period.

*  The Drakensberg is the eastern portion of the Great
Escarpment, which encloses the central Southern
African plateau. The Great Escarpment reaches its
greatest elevation — 2,000 to 3,482 metres (6,562 to
11,424 feet) within the border region of South Africa
and Lesotho.

e The Andes, Andes Mountains or Andean
Mountains are the longest continental mountain
range in the world, forming a continuous highland
along the western edge of South America.

(a) Tomei, Hematite and magnetite are the most
prominent of the iron ores found in India. Of these,
hematite is considered to be the most important iron ore
because of its high grade quality & lumpy nature, which
is consumed by a large number of steel & sponge iron
industries in the country.

(b) Asan Conservation Reserve has become

Uttarakhand’s first Ramsar site, making it a ‘Wetland

of International Importance’, announced the Ministry of

Environment, Forest and Climate Change. The Reserve

is located on the banks of Yamuna river near Dehradun

district in Garhwal region of the Uttrakhand.

(c) Intheyear 1606, the fifth Sikh guru, Guru Arjan Deyv,

was captured by Mughal Emperor Jahangir and imprisoned

in Lahore Fort. Part of the reason was the fact that he
had blessed Jahangir’s rebellious son Khusrau, and part
because of his growing influence in Northern India and
fast conversions to Sikhism that threatened the orthodox

Muslim clergy as well as the Hindu elite.

After imprisoning the guru, Jahangir demanded ¥ 2 lakh

as a fine plus elimination of all texts from the Adi Granth,

the Sikh holy book the guru had compiled, that could be

‘offensive’ to Hindus or Muslims.

(d) In 1369, the fourth story was repaired after lightning

struck the minaret. During reconstruction, Sultan Firuz

Shah Tughlaq elected to reduce the size of the fourth story

and then separated it into two stories.

(a) During the 14th century, the northern part of the

Deccan plateau was ruled by the Muslim Bahmani

Sultanate and the Sultanate of Khandesh while the southern

part was ruled by the Hindu Vijayanagar Empire. It was

during the 15th century when the disintegration of the

Bahmani Sultanate led to the evolution of five different

Sultanates: Ahmadnagar (Nizam Shahi dynasty), Berar,

Bidar, Bijapur (the Adil Shahi Dynasty), and Golconda

(the Qutb Shahi Dynasty).
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18.

19.

20.

21.

22.

(a) The Dahsala System or Zabti System was introduced
by Raja Todarmal, Akbar’s competent finance minister,
who had improved his skills under his first master,
Shershah Suri. The method prevailed from Lahore to
Allahabad and in the provinces of Malwa and Gujarat. This
remained a regular revenue appraisal system for much of
the Mughal Empire.
Average production of ten years has been derived from
this method. One-third of this average output was set in
Rupees per Bigha and fixed as a state share (Mal). The
balance of the two-thirds share was left to the cultivators
(Kharaj).
(a) Bhimrao Ramji Ambedkar ( 14 April 1891 — 6
December 1956), venerated as Babasaheb , was an Indian
jurist, economist, politician and social reformer, who
inspired the Dalit Buddhist movement and campaigned
against social discrimination towards the untouchables
(Dalits). He was British India’s Minister of Labour in
Viceroy’s Executive Council, Chairman of the Constituent
Drafting committee, independent India’s first Minister of
Law and Justice, and considered the chief architect of the
Constitution of India.
(a) The President through their aide Secretary-General
notifies the election date. If only one name is proposed,
the Speaker is elected without any formal vote. However,
if more than one nomination is received, a division (vote)
is called. MPs vote for their candidate on such date
notified by President. The successful candidate is elected
as Speaker of the Lok Sabha until the next general election.
(d) Under the canopy of Article 21, so many rights have
found shelter, growth, and nourishment. Thus, the bare
necessities, minimum and basic requirements those are
essential, and unavoidable for a person is the core concept
of the right to life. The expression of personal liberty in
Article 21 was given an expansive interpretation. The
court emphasized that the expression of personal liberty
is of wide amplitude covering a variety of rights which
go to constitute the personal liberty of man. Discuss the
contemporary situations which limit life and personal
liberty.

(b)

e Unlike the Fundamental Rights (FRs), the scope of
DPSP s limitless and it protects the rights of a citizen
and work at a macro level.

*  DPSP consists of all the ideals which the State
should follow and keep in mind while formulating
policies and enacting laws for the country.

*  Directive Principles are affirmative directions on
the other hand, Fundamental Rights are negative or
prohibitive in nature because they put limitations on

the State.

*  The DPSP is not enforceable by law; it is non-
justiciable.

e It is important to note that DPSP and FRs go hand
in hand.

. DPSP is not subordinate to FR

23.

24.

25.

26.

27.

28.

(d)

*  Secular means that the relationship between the
government and religious groups are determined
according to constitution and law. It separates
the power of the state and religion. By the 42nd
Amendment in 1976, the term Secular was also
incorporated in the Preamble.

« 2" Amendment Act, 1976: After the judgment of the
Kesavanand Bharati case, it was accepted that the
preamble is part of the Constitution. As a part of the
Constitution, preamble can be amended under Article
368 of the Constitution, but the basic structure of
the preamble cannot be amended.

e The Preamble of our constitution is part of the
Constitution but is not enforceable by courts. The
Preamble is non-Justifiable. This means that courts
cannot pass orders against the government of
India to implement the ideas in the Preamble.

(¢) The presidential electoral college is made up of the

following:

* clected members of the Rajya Sabha (upper house of
the Parliament of India);

e clected members of the Lok Sabha (lower house of
the Parliament of India);

*  elected members of each state’s Legislative Assembly
(lower house of the state legislature); and

* elected members of each union territory possessing a
Legislative assembly (i.e. Delhi, (Jammu & Kashmir
not included) and Puducherry etc.)

(d) Profit sharing ratio of A, B and C is :

A : B : C
7000 8000 12000
7 : 8 : 12

After one year share of B =% 3200
3200
Total Profit = TX27 =% 10,800

(¢) The Kolkata Port (KoPT), located on the left bank
of Hugli River is the first major as well as the only riverine
port in India. The Haldia Dock Complex (HDC) is located
on the right bank of the river at the confluence of Haldi
and Hugli rivers. It has longest approach Channel of 145 km.
(a) The Barak River flows 900 kilometres (560 mi)
through the states of Manipur, Nagaland, Mizoram and
Assam in India and into the Bay of Bengal via Bangladesh.
The principal tributaries are all in India: the Sonai (or
Tuirial), the Jiri, the Tlawng (or Dhaleswari, or Katakal),
the Jatinga, the Longai and the Madhura.

(d) There are 3 types of sediment load in the river:
dissolved, suspended, and bed load. The dissolved load
is made up of the solutes that are generally derived from
chemical weathering of bedrock and soils. Fine sands, clay,
and silt are typically transported as suspended load.
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29.

30.

31.

Traction is the geologic process whereby a current
transports larger, heavier rocks by rolling or sliding them
along the bottom. Thus, the grains and clasts interact with
the substratum during transport. Traction is where large
stones or boulders in the river’s load are rolled along
by the force of the river.
(b) Sunlight: Corals need to grow in shallow water where
sunlight can reach them. Corals depend on the algae that
grow inside them for oxygen and other things, and since
these algae need sunlight to survive, corals also need
sunlight to survive. Corals rarely develop in water deeper
than 165 feet (50 meters).
Clear water: Corals need clear water that lets sunlight
through; they don’t thrive well when the water is opaque.
Sediment and plankton can cloud water, which decreases
the amount of sunlight that reaches the zooxanthellae.
Warm water temperature: Reef-building corals require
warm water conditions to survive. Different corals living
in different regions can withstand various temperature
fluctuations. However, corals generally live in water
temperatures of 68 — 90° F or 20 — 32° C.
Clean water: Corals are sensitive to pollution and
sediments. Sediment can create cloudy water and be
deposited on corals, blocking out the sun and harming
the polyps. Wastewater discharged into the ocean near the
reef can contain too many nutrients that cause seaweeds
to overgrow the reef.

Saltwater: Corals need saltwater to survive and require

a certain balance in the ratio of salt to water. This is why

corals don’t live in areas where rivers drain fresh water

into the ocean (“estuaries”).

(b)

*  The Mantle is the middle layer of the earth surface
extending up to 2900 kilometers.

*  Beneath the Mantle lies the core which contains
molten rocks and materials called magma.

e The materials are highly radioactive and immensely
heated. These highly hot condition creates pressure
on the middle layer (Mantle).

e Asaresult, large convention currents are generated
excessively.

©

e The Congress Socialist Party (CSP) was a socialist
caucus within the Indian National Congress. It
was founded in 1934 by Congress members who
rejected what they saw as the anti-rational mysticism
of Gandhi as well as the sectarian attitude of the
Communist Party of India towards the Congress.
Influenced by Fabianism as well as Marxism-
Leninism, the CSP included advocates of armed
struggle or sabotage (such as Yusuf Meherally, Jai
Prakash Narayan, and Basawon Singh (Sinha) as well
as those who insisted upon Ahimsa or Non-violent
resistance (such as Acharya Narendra Deva).

32.

33.

34.

35.

*  Inhis presidential address to the Lucknow Congress
in 1936, Nehru urged the Congress to accept socialism
as its goal and to bring itself closer to the peasantry
and the working class.

(b) Hill stations were a distinct feature of colonial urban

development. They were set up and developed to fulfil the

needs of the British army. Shimla was founded during the
course of the Gurkha War (1815-16); the British developed

Mount Abu during the Anglo-Maratha War of 1818 and

Darjeeling was seized from the rulers of Sikkim in 1835.

Hill stations were developed as sanitariums; i.e., places

where soldiers could be sent for rest and recovery from

illness.

(c) Dharma Sabha was formed in 1829 in Calcutta by

Radhakanta Deb. The organization was established mainly

to counter the ongoing social reform movements led by

protagonists such as Raja Ram Mohun Roy and Henry

Derozio.

(a) Gokula Singh (also known as Veer Gokula, or Gokal

or Gokul Singh Jat; died 1670 AD) was a Jat zamindar

of Tilpat, belonging to Haga (Agre/Agha) gotra, in what
is now the state of Haryana, India. Gokula provided
leadership to the Jats who challenged the power of the

Mughal Empire.

Raja Ram (1670 — 1688) was a great Jat leader and

organizer of rebellion for freedom against Aurangzeb. He

was chieftain of Sinsini in princely state of Bharatpur in

India. After the martyrdom of Gokula, Raja Ram kept alive

the torch of rebellion against the oppressive Mughals.

Raja Churaman Singh (died 20 September 1721) was

a Hindu Zamindar of Jat state of Bharatpur in Rajasthan,

India. He was son of Bhajja Singh and younger brother of

Raja Ram Jat. He was the first unanimously elected leader

of Jats in 1695.

Badan Singh (1722-21 May 1755) was the formal founder

of the princely state of Bharatpur. He was nephew of Rao

Churaman Singh. After the death of Churaman Singh on

22 September 1721 there were family disputes between

Badan Singh and Muhakam, son of Churaman. Badan

Singh aligned with Jai Singh II of Jaipur to avoid the anger

of Muhakam Singh. In this family feud Jai Singh supported

Badan Singh.

(d) Chaitanya Mahaprabhu was an ascetic Hindu monk

and social reformer in 16™ century Bengal. A great

proponent of loving devotion for God, bhakti yoga,

Chaitanya worshiped the Lord in the form of Krishna. He

did bhakti of a form a that is ‘Krishna’

Nirguna bhakti is the devotion towards a formless, all-

encompassing God. The word ‘nirgun’ means ‘devoid of

qualities,” referring to the lack of physical attributes in

God.

It is one of the two forms of devotion prevalent in

Hinduism, the other one being Sagun Bhakti which sees

God in a physical form. Saint Kabir, Dadu and Nanak was

pioneers of the Nirguna Bhakti movement.
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36.

37.

38.

39.

40.

41.

42.
43.

44,

45.

(c) Mount Merapi, Gunung Merapi is an active
stratovolcano located on the border between the province
of Central Java and the Special Region of Yogyakarta
which is in Indonesia.

(b) E100 pilot project an ambitious project was launched
by Prime Minister Modi with the aim of setting up a
network for production and distribution of ethanol in India.
(a) Raimona reserve forest in lower Assam became the
state’s sixth national park on Saturday.

Spread over 422sgkm in Kokrajhar district, Raimona
National Park straddles the northern part of the notified
Ripu reserve forest, which forms the westernmost buffer
to the Manas Tiger Reserve.

(d) Naomi Osaka has announced her withdrawal from
Roland Garros one day after she was fined $15,000 by the
French Open and warned that she could face expulsion
from the tournament following her decision not to speak
with the press during the tournament.

Osaka, 23, who won her first match against Patricia Maria
Tig and was scheduled to face Ana Bogdan in the second
round, had released a statement last Wednesday stating
her intention to skip her media obligations during Roland
Garros because of the effects of her interactions with the
press on her mental health.

(c) The Heron TP, which is as long as a Rafale (14 metres)
and has double the wingspan of the French fighter, has
been developed by Israel Aerospace Industries (IAI). It is
a Medium Altitude Long Endurance (MALE) Unmanned
Aerial System (UAS) for all weather strategic missions.
While the Heron TP drones are capable of being armed
if needed, sources said the ones being leased by India are
non-weaponised versions.

(b) Cyclone Tauktae (pronounced as Tau’Te) has got its name
from India’s neighbouring country Myanmar, which means
“Gecko”, Gecko is a highly vocal lizard in Burmese dialect.
Global bodies like--World Meteorological Organisation
(WMO), United Nations Economic and Social Commission
for Asia, and the Pacific give names to cyclones. Besides,
regional specialised meteorological centres (RSMC), as
well as tropical cyclone warning centres, also prepare the
names of cyclones.

(a)

(d) OPV Sajag has been constructed by Goa Shipyard
Limited. It is the third in a series of five offshore patrol
vessels indigenously designed in line with Make in India’
vision.

(a) The expert committee, headed by Dr. K.P. Krishnan
on Variable Capital Company has submitted its report
on the feasibility of Variable Capital Companies in
the International Financial Services Centres to the
International Financial Services Centres Authority.

(c¢) Kerala has retained the top rank in NITI Aayog’s
SDG India Index 2020-21, while Bihar is the worst
performing state.

46.

47.

48.

49.

50.

51.

(b) “The Ocean: Life and Livelihoods” is the theme

for World Oceans Day 2021, as well as a declaration of

intentions that launches a decade of challenges to get
the Sustainable Development Goal 14, “Conserve and
sustainably use the oceans, seas and marine resources”,

by 2030.

(a) India has been ranked 49th in the Chandler Good

Government Index (CGGI), which classifies 104 countries

in terms of government capabilities and outcomes.

e The CGQI is released by the Chandler Institute
of Governance which is a private non-profits
organization headquartered in Singapore.

*  Each country is measured across over 50 open data
points. The index focuses on seven pillars:

*  Leadership and foresight.

*  Robust laws and policies.

*  Strong institutions.

*  Financial stewardship.

*  Attractive marketplace.

e Global influence and reputation.

e Helping people rise.

(b) Bhandari and his group at CSIR-NCL Pune, with

support from the Water Technology Initiative of the

department of science and technology (DST), government
of India, has developed the novel hybrid technology called

“SWASTIIK”, which involves boiling of a liquid as a

result of pressure reduction (cavitation) and also uses

natural oils having antimicrobial properties.

(c) Water Burial, a film based on Monpa dialect of

Arunachal Pradesh, has won the Best Film National

Award in environment conservation category. Directed

by Shantannu Sen, the film is inspired by Assamese novel

Saba Kota Manuh.

(a) At Night All Blood is Black won International booker

prize 2021.

At Night All Blood is Black captures the tragedy of a young

man’s mind hurtling towards madness and tells the little-

heard story of the Senegalese who fought for France on
the Western Front during the First World War. It has won

2021 International booker prize.

About International Booker prize

The International Booker Prize (formerly known as the

Man Booker International Prize) is an international

literary award hosted in the United Kingdom. The

introduction of the International Prize to complement the

Man Booker Prize was announced in June 2004. Sponsored

by the Man Group, from 2005 until 2015 the award was

given every two years to a living author of any nationality
for a body of work published in English or generally
available in English translation.

(¢) MP of the item =¥ 2,000

After discount, S.P. of the item

2000 0 < 1200
= X — =
100
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52.

53.

54.

55.

Let C.P. of the item is x.
According to the question,

x><E =1200
100

_ 1200x100 —% 1600
So, C.P. of the item is ¥ 1600.

(b) Let age of Raj is x years.
Age of his father is 2x and age of his grand father is
3x.

Average age of Raj and his Father = 45 years.

Sum of age of Raj and his father

=45 x 2 =90 years.

x+2x=90

3x=90

x =30 years

Age of Raj’s grand father = 3x

=3 x30=90 years.

(¢) LCM of 20, 24 and 30

R RV

2| 20, 24, 30
3110, 12, 15

_ 5|10, 4, 5
212 4,1
211, 2, 1

L, 1, 1

LCMis=2x3x5x2x2=120
Number will be divisible by 120.

120 | 1000
40

Remainder is 40.

So, the number which will be added to 1000, to make it
divisible by 20, 24, and 30 is

= 120-40=280.

(d) Z 1+ +—
—0+ n(n+1)+n(n+1)(2n+l)
2x2 2x6
=20+ 20121)+20(2112)(41) (- n=20 given)

=20+ 105+ 5 x7 x41

=125+ 1435 =1560.

(d) Number of letters in the word ‘COVID’ =5

. Words can be formed with or without meaning
=15 =5x4x3x2x1=120.

‘

* A famine is characterized by widespread deaths due
to starvation and epidemics caused by forced use of
contaminated water or decaying food and loss by
body resistance due to weakening from starvation.

()

e The MSP is a minimum price guarantee that acts
as a safety net or insurance for farmers when they
sell particular crops. These crops are procured by
government agencies at a promised price to farmers
and the MSP cannot be altered in any given situation.
The concept of MSP, therefore, protects the farmers
in the country in situations where crop prices fall
drastically. Wheat and rice are among the top crops
that are procured by the government at MSP from the
country’s farmers. A total of 22-23 crops are procured
under MSP.

(b) These features are formed on cliffs or headlands.

Waves attack vertical lines of weakness in the rock known

as Faults. Processes such as hydraulic action and abrasion

widen these faults into cracks and eventually the waves
will penetrate deeply enough to create caves.

o Ifthe cave is formed in a headland, it may eventually
break through to the other side forming an arch.

e The arch will gradually become bigger until it can
no longer support the top of the arch. When the arch
collapses, it leaves the headland on one side and a
stack (a tall column of rock) on the other.

*  The stack will be attacked at the base in the same
way that a wave-cut notch is formed. This weakens
the structure and it will eventually collapse to form
a stump.

Caves become archs
overtime

Stack

g
;..
%

()

e Tropical rainforests have distinct characteristics
that support a wide variety of different species. This
means that they have a high biodiversity. The biotic
or living components of the ecosystem and the abiotic
or non-living components of the ecosystem depend
on one another - a change in one leads to a change
in the other.

Structure of a tropical rainforest

A tropical rainforest is made up of the following layers:

*  ground level

e shrub layer

*  under canopy
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60.

61.

e  (main) canopy

*  Emergent’s

Climate

e Very wet with over 2,000 mm of rainfall per year.

e Very warm with an average daily temperature of
28°C. The temperature never drops below 20°C and
rarely exceeds 35°C.

e The atmosphere is hot and humid.

e The climate is consistent all year round. There are
no seasons.

*  Most of the soil is not very fertile.

*  Athin layer of fertile soil is found at the surface where
the dead leaves decompose.

e Itisred in colour because it is rich in iron.

*  Due to heavy rainfall the nutrients are quickly washed
out of the soil.

Plants and animals

*  The warm and very wet climate provides perfect
conditions for plant growth.

*  The wide range of plant species supports many
different animals, birds and insects.

e Species have adapted to the conditions of the
rainforest, e.g. trees and plants have shallow-reaching
roots to absorb nutrients from the thin fertile layer
in the soil.

(d) Arid soils have surface horizons with several

unique characteristics. Arid soil can be classified as a

group of soils belonging to the aridisol order of USDA

classification. Some important features of arid soil are:

e The soil red and brown in colour.

* Itis sandy in texture.

» Itis saline in nature and lacks humus and moisture.

e  Arid soils contain a substantial amount of soluble
salts.

« It is alkaline in nature because there is no rain to
wash soluble salts.

*  These soils are very infertile in nature.

e  Arid soils are most characterized by their water
deficiencies.

«  Itcontains high levels of gypsum, calcium carbonates,
sodium.

()

*  Akbar period architecture, building style that
developed in India under the patronage of the
Mughal emperor Akbar (reigned 1556—-1605). The
architecture of the Akbar period is characterized
by a strength made elegant and graceful by its rich
decorative work, which reflects many traditional
Hindu elements. The style is best exemplified by
the fort at Agra (built 1565—74) and the magnificent
town of Fatehpur Sikri (1569-74), but fine examples
are also found in the gateway to the ‘Arab Sara’t

62.

63.

64.

65.

(guesthouse at Humayiin’s tomb), Delhi (1560-61),
the Ajmer fort (1564-73), the Lahore fort with
its outstanding decoration (1586—1618), and the
Allahabad fort (1583—84), now largely dismantled.

(b) The amara-nayaka system was a political innovation

of the Vijayanagara Empire as they played a very important

role in the empire. They were the military commanders of

Vijayanagara. Their duties were to collect taxes and other

dues from peasants, trades and others. They provided an

effective fighting force to the rulers of Vijayanagara.

o It is likely that many features of this system were
derived from the Iqta system of the Delhi Sultanate.

¢ The Amara-Nayakas were military commanders
who were given territories to govern by the Raya.
They collected taxes and other dues from peasants,
craftspersons, and traders in the area.

e They retained part of the revenue for personal use
and for maintaining a stipulated contingent of horses
and elephants. These contingents provided the
Vijayanagara kings with an effective fighting force
with which they brought the entire southern peninsula
under their control.

*  Some of the revenue was also used for the maintenance
of temples and irrigation works. The Amara-Nayak
sent tribute to the king annually and personally,
appeared in the royal court with gifts to express
their loyalty.

(d) 1 and 2 statements are correct. Permanent settlement

was introduced in 1793 by Lord Cornwallis and covered

Bengal, Bihar, Orissa, parts of Northern Karnataka, etc. It

was also known as Zamindari system as zamindars were

recognized as the owners of the land.

Ryotwari system, one of the three principal methods of

revenue collection in British India was prevalent in most

of southern India, being the standard system of the Madras

Presidency, the system was devised by Capt. Alexander

Read and Thomas (later Sir Thomas) Munro at the end of

the 18th century.

The word mahalwari is derived from the Hindi mahal,

meaning a house or, by extension, a district; it was

introduced by Holt Mackenzie and reviewed under lord

William Bentick in 1833. This system was introduced in

North-West Frontier, Agra, Central Province, Gangetic

Valley, Punjab, etc.

(d) Mir Qamar-ud-din Khan Siddiqi Bayafandi (20

August 1671 — 1 June 1748) also known as Chin Qilich

Khan was a nobleman of Indian and Turkic descent and

the founder of the Asaf Jahi dynasty. He established the

Hyderabad state, and ruled it from 1724 to 1748.

(b) Except for statement (b) others belong to either

fundamental right or are part of the interpretation that

belongs to fundamental right. Article 20(2) of the

fundamental rights states statement (a) article 20 (3)

states statement (c) and 20(1) states statement (d) from

the question.
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66. (d) Constitutional provision for Municipality does not 71. (a) Simple interest for 2 years =5+ 5=10%
have provision for Urban Panchayat. Compound interest for 2 years
The 74th Constitutional Amendment Act, 1992, proposes to
. . . . 5x5
constitute a uniform structure of Municipal Corporations, =5+ (5 + —) =5+525=10.25%
Municipal Councils and Nagar Panchayats in transitional 100
areas. This Act granted the Urban Local Government Difference of SI and CI for 2 years
a constitutional status. Presently, the Urban Local =10.25-10=0.25%
Government has three categories- According to the question,
(a) Nagar Panchayat for a transitional area, i.e., an area 0.25% =250
in transition from a rural to an urban area, 250
(b) Municipal Council for smaller urban area and 1% = 0.25
(¢) Municipal Corporation for a large urban area.
67. (c) BR Ambedkar has given warnings in his last speech 100% = 250 %100 = 250x100x100
regarding the constitution and problems to come after 0.25 25
its enactment in 1949. These are the excerpts from his =1,00,000
warnings given during final constitution discussion in the So, the sum is ¥ 1,00,000.
constituent assembly. 1
68. (b) President of India can appoint Prime minister as per 72. (b) 25% = 4
provision provided in articl§ 75, he can grant pardon to Let alcohol in the mixture is x.
a person who has been punished by court martial as per ) . . . .
article 72 of the constitution and he can remove a judge of - Wat‘.ar in the mlxturfe is 3x. (v total mixture is 4x)
high court just on the grounds as judge of Supreme court According to the question,
is removed. x=75ml
Statement is (c) is correct as President, whatsoever has no 3x=75x3=225ml
authority on disqualifying members of parliament as that So, 225 ml water is to be added.
authority lies with Speaker of the house of the Parliament.  73. (a) Let the number is x.
69. (d) The Maneka Gandhi vs. Union of India most Then, according to the question,
important feature was the interlinking it 1aid down between 35 27
the provisions of Articles 19, 14 and 21. Through this link, 2X—=xx—+416
the supreme court made these provisions inseparable and 100 40
into a single entity. Now, any procedure has to meet all 35x  27x
the requirements mentioned under these three articles to = 100 100 416.
be held valid. As a result, this judgement enlarged the
scope of personal liberty significantly and preserved the = 35x-27x =416
fundamental & constitutional right to life. 100
Statement (d) being a falsified statement does not belong 8x
to the judgement that was produced under Maneka Gandhi = 100 =416
vs Union of India. Right to die has been observed as right _
. O . = x=5200
under article 21 but it’s limited to passive death not full- .
fledged death in normal cases. -~ Number is 5200 ) ) )
70. (b) M.P. of the article =3 2000 74. (d) The Cardamom Hills are southern hills 9f India and
After discount the S.P. of the article part of the southern Westgrn Ghats located in southeast
Kerala and southwest Tamil Nadu.
75. (c)

=2000x2x2 '.'10%=i and5%=i
10 20 10 20

=3 1710.
After addition of GST, SP of the article

= 1710><g =% 2052.

Customer has to pay = (2052 — 2000)
=3 52 more

52
Required percentage = ——x100 = 2.6% more.
2000

*  Sutlej is tributary of Indus River. It rises from west
of the catchment area of Lake Rakshastal in Tibet.

»  Kosi river is tributary of Ganges and its source is
Sunkoshi.

*  Teestariver is tributary of Brahmaputra and its source
lies in Eastern Himalayas in Pauhunri mountains.

*  Chambalriver is the tributary of Yamuna and meets in
Etawah district of UP and its source is near the Singar
Chouri crest in the northern sides of the Vindhyan
cliffs, 15 km west to southwest of Mhow in Indore
District, Madhya Pradesh.
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76.

77.

78.

79.

80.

(d)

*  Shoots, or above-ground parts of plants, generally
display positive phototropism—they bend toward
the light.

*  Asthe roots always grow in the downward direction
or in the direction of the force of gravity they are
regarded as positively geotropic.

e Chemotropism can be observed during the growth
of the pollen tube towards the ovules. This is due
to the ovary releasing chemicals that influence the
development of pollen tubes.

o Statement (d) is incorrect as Hydrotropism is a
plant’s growth response in which the direction of
growth is determined by a stimulus or gradient in
water concentration. Mainly related to roots.

(b)

e Aluminium is a silvery white metal. The surface of
aluminium metal is covered with a thin layer of oxide
that helps protect the metal from attack by air. So,
normally, aluminium metal does not react with air.
If the oxide layer is damaged, the aluminium metal
is exposed to attack, even by water.

*  When aluminium is placed in an acid it may
initially appear not to react. This is because a
layer of aluminium oxide forms on the surface of the
aluminium due to prior reaction with the air and acts
as a protective barrier.

*  Copper does not react with acid, will react with
oxygen if heated strongly and does not react with
water or steam, Sodium reacts with water, oxygen
and acids and Ferrous reacts slowly with acids if it is
made warm, react with steam water not cold water and
ferrous burns with oxygen if heated when in powder
form. at some level when wither heated or in cold
form irrespective of the form the three substances
take under normal temperature.

(b) Sodium when reacts with water produces Hydrogen.

Sodium reacts with water and form Hydrogen gas

2Na+2H,0—2NaOH+H,

The hydrogen gas produced hissing sound.

(a) When manganese dioxide (MnO,) is heated with

aluminium powder, displacement reaction takes place,

and manganese is obtained as the product along with
aluminium oxide. It is an exothermic reaction and hence

Mn is obtained in molten form.

3MnO,(s) + 4Al(s) — 3Mn (1) + 2A1,04(s) + heat

(d)

e Atomic radius is determined as the distance between
the nuclei of two identical atoms bonded together.

e The atomic radius of atoms generally decreases from
left to right across a period.

e The atomic radius of atoms generally increases from
top to bottom within a group.

81.

82.

83.

84.

(d) Production possibility frontier is based on the
following assumptions:

1. The amount of resources in an economy is fixed, but
these resources can be transferred from one use to
another;

2. With the help of given resources, only two goods can
be produced;

3. The resources are fully and efficiently utilised;

4. Resources are not equally efficient in production of
all products. So, when resources are transferred from
production of one good to another, the productivity
decreases;

5. The level of technology is assumed to be constant.

Point no. 5 negates the statement given in the question as

the output of the commodity will remain unchanged as the

technology is assumed to be constant.

(c)

*  The income elasticity of demand is used to measure
the sensitivity of a change in the quantity demanded
relative to a change in consumers’ incomes not be
the rate of income growth in economy.

e Many factors determine the demand elasticity for a
product, including price levels, the type of product
or service, income levels, and the availability of any
potential substitutes.

*  High-priced products often are highly elastic because,
if prices fall, consumers are likely to buy at a lower
price.

*  Compared to essential goods, luxury items are highly
elastic.

*  Goods with many alternatives or competitors are
elastic because, as the price of the good rises,
consumers shift purchases to substitute items.

* Incomes and elasticity are related—as consumer
incomes increase, demand for products increases
as well.

(a)

*  Thebest-known automatic stabilizers are progressively
graduated corporate and personal income taxes,
and transfer systems such as unemployment
insurance and welfare. Automatic stabilizers are
called this because they act to stabilize economic
cycles and are automatically triggered without
additional government action.

*  Reverse repo, open market operation and bond price
affect monetary policy and share markets which are
part of money multiplier group.

(d)

*  Fourth stage (Low stationary)- This stage is
characterized by low birth and low death rate with
the result that the population becomes stationary.
Most industrialized countries have gone through a
demographic transition from a high birth and high
death rates to low birth and low death rates.



2021-18

CAPF Solved Paper-2021 (Paper-1)

85.

86.

e There is a demographic cycle of 5 stages through
which a nation passes.

»  Firststage (High stationary): This stage is characterized
by a high birth rateand high death rate which cancel
each other and the population remainsstationary. Till
1920, India was in this stage.

*  Second stage (Early expanding): The death rate begins
to decline while thebirth rate remains unchanged. As
the birth rates remain high, the populationstarts to
grow rapidly.

*  Third stage (Late expanding)- Death rate declines
still further and birth ratetends to fall, but population
tends to grow as birth rate supersedes the deathrates,
but rates of population growth decelerates.

*  Fourth stage (Low stationary)- This stage is
characterized by low birth andlow death rate with
the result that the population becomes stationary.
Mostindustrialized countries have gone through a
demographic transition from ahigh birth and high
death rates to low birth and low death rates.

«  Fifth stage (Declining): Population begins to decline
because birth rate islower than death rate.

(b)

*  Migration is a global phenomenon caused not only
by economic factors, but also by social, political,
cultural, environmental, health, education and
transportation factors.

e The Pull Factors are factors which attract the migrants
to an area. Opportunities for better employment,
higher wages, facilities, better working conditions
and attractive amenities are pull factors of an area.

*  Pull factors are those that are associated with the area
of destination

(d) Depression on top of the volcano formed after

volcanic eruption is called Crater

*  Acrateris a bowl-shaped depression, or hollowed-out
area, produced by the impact of a meteorite, volcanic
activity, or an explosion. This cheery crater on Mars
was the result of a happy accident—a meteor impact.

*  Avolcanic vent is an opening exposed on the earth’s
surface where volcanic material is emitted.

* A cinder cone is a steep conical hill of loose
pyroclastic fragments, such as volcanic clinkers,
volcanic ash, or cinder that has been built around a
volcanic vent.

Magma chamber

87.

88.

&9.

90.

91.

A magma chamber is a large pool of liquid rock beneath
the surface of the Earth. The molten rock, or magma, in
such a chamber is less dense than the surrounding country
rock, which produces buoyant forces on the magma that
tend to drive it upwards.
(c) Grid reference helps people to locate places on
the map. Grid is made up of latitude and longitude
lines. Latitude lines run east-west around the globe and
longitude lines run north-south direction. Grid lines on
map define the coordinate system. Latitude and longitude
are imaginary lines that help us label every place on the
surface of earth. So, grid references are essential to find
the exact location of places on a map.

(d)

*  An anemometer is an instrument that measures
wind speed and wind pressure. Anemometers are
important tools for meteorologists, who study weather
patterns. The stronger the wind blows, the faster the
rod spins.

* A barometer is a scientific instrument used
to measure atmospheric pressure, also called
barometric pressure.

e A weather vane, wind vane, or weathercock is an
instrument used for showing the direction of the wind.
It is typically used as an architectural ornament to the
highest point of a building.

*  Awind rose is a graphic tool used by meteorologists
to give a succinct view of how wind speed and
direction are typically distributed at a particular
location.

(c) An oxbow lake is formed when a meander is cut off

by deposition.

(c) There is evidence that by ¢. 1800 BCE most of the

Mature Harappan sites in regions such as Cholistan had

been abandoned. Simultaneously, there was an expansion

of population into new settlements in Gujarat, Haryana
and western Uttar Pradesh.

@

¢ Mulamadhyamakakarika, Buddhist text by Nagarjuna,
the exponent of the Madhyamika (Middle Way)
school of Mahayana Buddhism. It is a work that
combines stringent logic and religious vision in a
lucid presentation of the doctrine of ultimate
“emptiness.”

e Dharmakirti, was an influential Indian Buddhist
philosopher who worked at Nalanda. He was one
of the key scholars of epistemology in Buddhist
philosophy, and is associated with the Yogacara and
Sautrantika schools.

*  Asanga was “one of the most important spiritual
figures” of Mahayana Buddhism and the “founder
of the Yogachara school”. He is known as one of
the seventeen Nalanda masters and taught at the
monastery which is located in modern-day Bihar.
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92.

93.

94.

95.

(d)

(b)

(a)

Vasubandhu was an influential Buddhist monk and
scholar from Gandhara. He was a philosopher who
wrote commentary on the Abhidharma, from the
perspectives of the Sarvastivada and Sautrantika

Vasavadatta is a classical Sanskrit romantic tale
(akhyayika) written in an ornate style by Subandhu
and is incorrectly matched.

Kalidasasa plays and poetry are primarily based on
the Vedas, the Ramayana, the Mahabharata and the
Puranas.

Buddhacharita is an epic poem in the Sanskrit
mahakavya style on the life of Gautama Buddha by
Asvaghosa.

Somadeva was an 11th century CE writer from
Kashmir. He was the author of a famous compendium
of Indian legends, fairy tales and folk tales - the
Kathasaritsagara

Kavi Bilhana was an 11th-century Kashmiri poet.
He is known for his love poem, the Caurapaficasika.
Bilhana rewarded his patron by composing in his
honor an epic Vikramankadevacharita. Bilhana is from
the period of time when Sanskrit continued to be the
language of literature, and is a very important poet of
Kashmir from the Medieval period of Indian literature.
Vasavadatta is a classical Sanskrit romantic tale
(akhyayika) written in an ornate style by Subandhu

This Buddha image embodies the qualities of
radiant inner calm and stillness, the products of
supreme wisdom in mathura school of arts. The
figure once raised his right hand (now missing) in
the characteristic abhaya-mudra, a gesture dispelling
fear and imparting reassurance.

Kumbhrar or Kumrahar and bulandibagh are the
area of Patna where remains of the ancient city of
Pataliputra were excavated by the Archaeological
Survey of India starting from 1913. It is located 5
km east of Patna Railway Station.

Matsya purana, Vishnu purana, vaayu purana,
brahmanda purana gives valuable information about
the rule of the satavahana dynasty. In puranas,
the satavahanas were mentioned as the Andhras.
According to vayu purana, 17 kings of satavahanas
ruled for 300 years. According to matsya purana,
30 kings ruled this dynasty for 450 years. Other
puranas such as Vishnu purana, bhagavata purana
mentions that this satavahana dynasty ruled for 456
years altogether.

Article 215 Constitution of India: High Courts to be
courts of record. Every High Court shall be a court of

97. (c)

record and shall have all the powers of such a court
including the power to punish for contempt of itself.
An aggrieved party from the judgment or decree of
high court cannot claim special leave to appeal as a
right but it is privilege which the Supreme Court of
India (article 136) is vested with and this leave to
appeal can be granted by it only.

Supreme Court exercises advisory power and high
court do not have any authority of advisory. Article
143 of the Indian Constitution confers upon the
Supreme Court advisory jurisdiction.

Article 142 allows the Supreme Court to pass any
order necessary to do “complete justice” in any case.
Not conferred to High court.

Right to property ceased to be fundamental right

through the 44™ amendment and was moved in article
300A and have become legal right.

Other rights mentioned in the question have been expressly
mentioned in Fundamental rights.

98. (a)

Collectively these articles do not have the same

meaning

99. (c)

100. (c)

First, Article 129 of the Constitution of India, 1950
which makes the Supreme Court ‘a court of record’
and confers power to punish for contempt of itself.
Second, Article 142 which allows the Court to provide
punishment for contempt, subject to any other law.
Article 144 of the Constitution mandates that “all
authorities civil and judicial, in the territory of
India shall act in aid of the Supreme Court. “These
authorities are legally obliged not only to act in aid
of the Supreme Court for the enforcement of the law
declared by the Supreme Court but also in aid of all
its orders, decrees or directions.

The term of office of members of the Committee does
not exceed one year at a time is the correct statement.
The Public Accounts Committee consists of fifteen
members elected by Lok Sabha every year from
amongst its members according to the principle
of proportional representation by means of single
transferable vote. Seven members of Rajya Sabha
elected by that House in like manner are associated
with the Committee. This system of election
ensures that each Party/Group is represented on the
Committee in proportion to its respective strength in
the two Houses.

A Minister is not eligible to be elected as a member
of the Committee and if a member, after election to
the Committee, is appointed as a Minister, she/he
ceases to be a member of the Committee from the
date of such appointment.

In order to be appointed as a Judge of the Supreme
Court, a person must be a citizen of India and must
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101.
102.

103.

104.
105.

106.

have been, for atleast five years, a Judge of a High
Court or of two or more such Courts in succession, or
an Advocate of a High Court or of two or more such
Courts in succession for at least 10 years or he must
be, in the opinion of the President, a distinguished
jurist. Provisions exist for the appointment of a Judge
of a High Court as an Ad-hoc Judge of the Supreme
Court and for retired Judges of the Supreme Court
or High Courts to sit and act as Judges of that Court.

(b)

(d)

e The light which our eyes - our “remote sensors” - can
detect is part of the visible spectrum. It is important
to recognize how small the visible portion is relative
to the rest of the spectrum. There is a lot of radiation
around us which is “invisible” to our eyes, but can
be detected by other remote sensing instruments and
used to our advantage. The visible wavelengths cover
a range from approximately 0.4 to 0.7 pm.

(b) Microwaves are used to cook food. Microwave oven

is a domestic application of these waves.

(a)

(b)

* If objects in the distance appear blurry, it could
be a sign that you suffer from short sightedness.
Close-up vision is generally unaffected in people
with myopia. However, in very severe cases of short
sightedness, close-up vision can also become blurry.
Short sightedness may make it difficult to recognise
faces at a distance, and driving can become more
difficult too. In children, short sightedness can often
be recognised when they have difficulty seeing the
blackboard in their classroom, or watching television
from a distance.

(¢) (A) Plants need rigid structure to support them as
well as to defend themselves whereas, animals do not need
any sort of cell wall since animals always move, they are
not stationary in one particular place like plants, therefore
they need to be flexible and as a result of that cell walls
are absent.

(B) They are found in both animal and plant cells but are

much larger in plant cells. Vacuoles might store food or any

variety of nutrients a cell might need to survive. In plant
cells, the vacuoles are much larger than in animal cells.

When a plant cell has stopped growing, there is usually

one very large vacuole.

(C) Presence of plastids is an exclusive character of

plant cell. It contain chloroplast which is responsible for

autotropic nature of plants. Since animals are heterotrophic,
plastids are not found in animal cell.

107.

108.

109.

110.

111.

112.
113.

(d)

Autonomic
neurons

(6)

Aerenchyma — tissue containing enlarged gas spaces —
occurs in many plants. It is formed either as part of normal
development, or in response to stress (e.g. hypoxia).
Two mechanisms of aerenchyma formation have been
described; schizogeny, in which development results in the
cell separation and lysigeny, in which cells die to create
the gas space.

(c) Smooth muscle (so-named because the cells do not

have striations) is present in the walls of hollow organs like

the urinary bladder, uterus, stomach, intestines, and in the
walls of passageways, such as the arteries and veins of the
circulatory system, and the tracts of the respiratory, urinary,
and reproductive systems. These are not connective tissues.

(c) Anabaena is a Cyanobacteria. These are unicellular

prokaryotes that are placed under the kingdom Monera.

(c)

e HIV cannot be spread by sharing drinking glasses or

through fine droplets coming out of mouth.

*  Nocases of HIV spread have ever been reported after
a person has come in contact with the sweat, tears,
urine, or feces of an HIV-infected person.

(d) Cellular respiration, the process by which organisms

combine oxygen with foodstuff molecules, diverting the

chemical energy in these substances into life-sustaining
activities and discarding, as waste products, carbon
dioxide and water.

Methanol toxicity can occur via ingestion, dermal
absorption, and inhalation.

(b)
(c)
* Oil and fat containing food items are flushed with
nitrogen because the food containing fats and oil
become rancid after sometime because of oxidation
and give smell having a bad taste. Presence of
nitrogen helps food to save from rancidity.
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114. (b)

Panch-tatva refers to five aspects of god as mentioned

in The Geeta.
In sanskrit, panch means five & tatva means truth.

(M
2
3)
“)
)
115. (b)

116. (d)

117. (b)

118. (b)

Panch-Tatva :-

Earth as mind

Water as mind

Fire as intelligence
Air as awareness
Sky as consciousness

To prevent the spoilage of milk, the milkman adds
a very small amount of baking soda to fresh milk.
Baking soda is sodium bicarbonate. It is basic in
nature. Addition of baking soda increases the pH of
milk from 6. It becomes weakly alkaline.

As this milk is slightly more alkaline than other,
therefore, acid produced to set into curd will be
neutralized by baking soda added by milkman. Hence,
this milk takes a longer time to set as curd.

CaO is not expected to react with NaOH because
NaOH is a base and it can only react with either
an acidic oxide or an amphoteric oxide.

Among given options BeO is an amphoteric oxide
while B,0; and SiO, are acidic oxides.Thus, all of
them react with NaOH to form salts.

CaO, on the other hand, is a basic oxide and hence it
will not react with NaOH.

The reason is due to the surface area of calcium
carbonate available to react.

When reacting a block of solid calcium carbonate
with dilute sulphuric acid, solid calcium sulphate is
produced which is deposited on the surface of the
calcium carbonate block (since that is where the
reaction occurs). The calcium sulphate is insoluble in
dilute sulphuric acid and so you end up with calcium
carbonate coated in a layer of calcium sulphate, which
stops the acid from getting at the carbonate and so
stops the reaction.

In contrast, calcium nitrate, produced from the
reaction with nitric acid, is highly soluble in dilute
nitric acid and so no solid layer forms around the
carbonate block and the reaction can continue until
one of the reagents is used up.

The deviation is maximum for violet color and
minimum for the red color of light.

According to the question, blue comes after the
violet hence, it deviates the most.

An optical prism is a transparent optical substance
with flat, polished surfaces thatrefract light.

119.

120.

121.
122.

123.

124.

*  The different colors that make up white light
become separated.

»  This happens because each color has a particular
wavelength and each wavelengthbends at a
different angle.

*  When a ray of white light is passed through a
prism gets split into its constituent colors.This
phenomenon is called the dispersion of light.

(d) Ifthe time is between 1 to 11 o’clock then to find the

mirror image, time is subtracted by 11 : 60.

Given clock is showing 2:35.

Correct time is 11:60 — 2:35 = 9:25

(c)

*  Jupiter is not luminous because it does not produce
its own light like Sun, Proxima centauri and Alpha
centauri which are suns distant from our Sun.

* Both a torch and a star are considered to be
luminous objects. In order for us to see an object that
is non-luminous, it must reflect some of the light it
receives from a luminous source, such as the Sun.

(a)

(¢) Nuclear energy is usually considered another non-

renewable energy source. ... The material most often used

in nuclear power plants is the element uranium. Although
uranium is found in rocks all over the world, nuclear power

plants usually use a very rare type of uranium, U-235.

Uranium is a non-renewable resource.

(c)

e Chlorophyll is mainly present in the thylakoids of
the chloroplast. It helps to absorb light and transfer
that light energy by resonance energy transfer to a
specific chlorophyll pair in the reaction center of the
photosystems. This sunlight absorbed helps in the
process of photosynthesis.

e Chlorophyll’s job in a plant is to absorb light—
usually sunlight. The energy absorbed from light is
transferred to two kinds of energy-storing molecules.
Through photosynthesis, the plant uses the stored
energy to convert carbon dioxide (absorbed from the
air) and water into glucose, a type of sugar. Plants use
glucose together with nutrients taken from the soil to
make new leaves and other plant parts. The process
of photosynthesis produces oxygen, which is released
by the plant into the air.

(a)

« Al life forms consisting of a single cell where
all complicated processes including respiration,
digestion, excretion and reproduction successfully
occur are examples of unicellular organisms.

e Most such organisms are microscopic, for
apparent reasons. All bacteria, flagellates and other
microorganisms are single-celled.
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125. (b)

Fig. 21.18: Water vascular syslem, narvous system and
gonad of Holkthuni. Water vascular system
and nervous system are drawn only on one
side. %

Holothuria usually lives in sandy bottom of the sea
and may remain partially buried in the sand. They
are also found at all depths of the sea, ranging from
the shallow to deep water. They are very sluggish by
nature. They feed on organic particles present in sand
or other minute living organisms.

Like other echinoderms, Holothuria move by the
tube-feet or podia. The mechanism of movement is
same as that in Echinus and Asterias.

It does not possess notochord throughout its life
stages.



